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SECTION - A

1000 O 0

i) General Awareness

The Kaveri Water Disputes is among
which of the neighbor state ?

(A) Maharashtra and Goa

(B) Goa and Karnataka

(C) Karnataka and Kerala

(D) Karnataka and Tamil Nadu

Feed our Future cinema ad campaign
in India launched by

(A) United Nations World Food
Programme (WFP)

(B) Food and Agriculture Organization
(FAO)

(C) World Bank
(D) None of the above

Present Chairman of the Finance
Commission of India is

(A) N.K. Singh

(B) Raghuram Rajan

(C) Manmohan Singh
(D) None of the above

BHIM is a digital payment interface by
(A) NPCI

(B) Google

(C) Paytm

(D) None of the above

The main aim of NASA’'s ICON satellite
is

(A) To study the Earth's ionosphere
(B) To study the Earth’s stratosphere
(C) To study the Earths biosphere
(D) None of the above

6.

10.

Which of the following is not a Sub
Schemes under Pradhan Mantri Mudra
Yojana ?
(A) Shishu
(C) Yauwan

(B) Kishore
(D) Tarun

India’s rank on Global Competitive Index
2019

(A) 55
(B) esth
(C) ond
(D) None of the above

Nobel Prize in Chemistry 2019 awarded
for the development of

(A) Lithium ion batteries

(B) Alkaline polymer batteries
(C) Alkaline batteries

(D) None of the above

Which of the following chemicals given
below is the key pollutant in crackers ?

(A) Mercury chloride
(B) Barium nitrate

(C) Potassium nitrate
(D) None of the above

Dengue fever is caused by
(A) Virus

(B) Bacteria

(C) Protozoa

(D) None of the above
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12.

13.

14.

15.

Present External Affairs Minister of India
is

(A) Kiran Bedi

(B) Subrahmanyam Jaishankar

(C) Ajit Doval

(D) None of the above

Present Vice President of India is
(A) Hamid Ansari

(B) M. Venkaiah Naidu

(C) Sumitra Mahajan

(D) None of the above

Which of the following chemical is most
commonly used for artificial ripening of
fruits ?

(A) Ethephon

(B) Sodium tetra chloride
(C) Sodium citrate

(D) None of the above

Bituminous is the most abundant form
of

(A) Coal
(B) Silver
(C) Gold
(D) None of the above

The chemical name of common salt
(Table salt) is

(A) Sodium iodide

(B) Sodium chloride

(C) lodine hexa chloride
(D) None of the above

16.

17.

18.

9.

20.

00 OO0

Which of the following plant leaves used
for the feed for silkworm in sericulture ?

(A) Mulberry plant leaves
(B) Silver plant leaves
(C) Neem plant leaves
(D) None of the above

Which of the following chemical is
commonly used as a coagulant in water
treatment for purification of water ?

(A) Alum

(B) Saltpeter

(C) Epsom salts

(D) None of the above

Vishwa Shanti Stupa (World Peace
Pagoda) is situated at

(A) Rajgir, Bihar

(B) Kushinagar, Uttar Pradesh
(C) Bodh Gaya, Bihar

(D) None of the above

The scientific name of apple is
(A) Mangifera Indica

(B) Persea Americana

(C) Malus Domestica

(D) None of the above

Sattriya is a one of the famous Indian
classical dance forms belongs to

(A) Assam
(B) Punjab
(C) Kerala
(D) None of the above
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21.

22.

23.

24.

25.

26.
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ii) General Intelligence and Reasoning Ability

What comes in place of question mark (?)
in the following number series ?

95, 94, 92, 89, 85, 80, ?

(A) 74 (B) 69

(C) 75 (D) 77

The sum of even numbers between
1and 31is
(A) 16
(C) 240

(B) 128
(D) 512

100 x 10— 100 + 2000 + 100 = ?

(A) 29 (B) 780
(C) 920 (D) 979
49 x 49 x 49x 49=7"
(A) 4 B) 7
(C) 8 (D) 16
The value of (6+6+6+6)+6 ;o ol
4+4+4+4-+4
to
3
(A) 1 (B) 2
4 6
©) 13 D) 353

469157 x 9999 = ?
(A) 4586970843
(B) 4686970743
(C) 4691100843
(D) 5846491253

27.

28.

29.

30.

31.

32,

If a and b are both odd numbers, which
of the following is an even number ?

(A) a+b
(B) a+b+1
(C) ab
(D) ab +2

3x0.3x0.083x0.003x30="7
(A) 0.0000243

(B) 0.000243
(C) 0.00243
(D) 0.0243
it X _6 thevalueof XY+ 14 i
7 x+y 19
13 15
]
1—.

(C) 1 (D) 19
Findxif X-X—-4.

5 6
(A) —120 (B) 100
(C) 100 (D) 120

Find out the wrong number.
9, 14, 19, 25, 32, 40

(A) 14 (B) 25
(C) 32 (D) 9

What is the square root of 0.16 ?
(A) 0.004 (B) 0.04
(C) 0.4 (D) 4
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Fr=fefas ven geen d e fm () %
T 9 1 BT 7

95, 94, 92, 89, 85, 80, ?

(B) 69
(D) 77

(A) 74
(C) 75
1 3% 31 & 9 FI 7 gEns F am
Fere & 7
(A) 16
(C) 240

(B) 128
(D) 512

100 x 10 — 100 + 2000 + 100 = ?
(A) 29 (B) 780
(C) 920 (D) 979

49 x 49 %49 x49=7"

(A) 4 (B) 7
(C) 8 (D) 16
(6+6+6+6)+63?THH§1TH
4+4+4+4+:4
3
(A) 1 ®)
& 38
(©) 13 (D) 13

469157 x 9999 = ?
(A) 4586970843
(B) 4686970743
(C) 4691100843
(D) 5846491253

27.

28.

29.

30.

31.

32.

73 a 3 b I T e &, A &
FH-HT U TH T&I1 2071 7

(A) a+b

(B) a+b+1

(C) ab

(D) ab+2

3x0.3x0.03x0.003x30="7?
(A) 0.0000243

(B) 0.000243
(C) 0.00243
(D) 0.0243

x_6 x-y 14 _
i 2y 7 Lo T

13 15
A) 15 ®) 19

3

(C) 1 (D) 1;§
e X_X_4drx=2

5 6
(A) -120 (B) —100
(C) 100 (D) 120
TTAd U1 919 SIS |
9, 14, 19, 25, 32, 40
(A) 14 (B) 25
(C) 32 (D) 9
0.16 %1 TR fhawm amm ?
(A) 0.004 (B) 0.04
(C) 0.4 (D) 4
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33.

35.

36.

The product of two numbers is 192
and the sum of these two numbers is
28. What is the smaller of these two
numbers ?

(A) 12
(B) 14
(C) 16
(D) None of these

The difference between the length and
breadth of a rectangle is 23 m. If its
perimeter is 206 m, then its area is

(A) 1520 m2
(B) 2420 m?
(C) 2480 m2
(D) 2520 m?2

How many terms are there in the series ?
201, 208, 215, ..., 369

(A) 23
(B) 24
(C) 25
(D) 26

Choose the correct alternative from the
given options.
2,5,9 7 20, 27.

(A) 14
(B) 16
(C) 18
(D) 24

37.

38.

39.

40.

T OO0 O 0 0

Reena is twice as old as Sunita. Three
years ago, she was three times as old
as Sunita. How old is Reena now ?

(A) 6 years
(B) 7 years
(C) 8years
(D) 12 years

Find out the missing number.

2 2 2
(91 @1 (O
4 8 2
(A) 42
(B) 44

(C) 46
(D) 48

Find out the missing character.

3[\ SN ?N
2 12 15

(A) 2

(B) 6

(C) 8

D) 64

The sum of three consecutive numbers
is 87. The greatest among these three
numbers is

(A) 26
(B) 28
(C) 29
(D) 30



33.

34.

35.

36.

afe foreft 31 Seati s EHe 1922 3k
3 2 TS F1 A 28 B, 91 398 @ S
e TR 7

(A) 12

(B) 14

() 16

(D) T § g T

U ATIG il A A GIS1s F1 Al
23 m® | 73 gt aftfafa 206 m 2, 4t
THHT EAEA foha= B 7

(A) 1520 m?

(B) 2420 m?

(C) 2480 m?

(D) 2520 m? _

AT JEe H F TR ?
201, 208, 215, ..., 369
(A) 23

(B) 24

(C) 25

(D) 26

g e e & W) e = g |
2,5,9 7, 20, 27.

(A) 14

(B) 16

(C) 18

(D) 24

37.

38.

39.

40.
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i it 3w gften @ T 21 o7 o g
36! 39 Gt | At oft) ar andt fe
i 3u foRe 2 7

(A) 63
(B) 734
(C) 8ad
(D) 1234

=i s den a2 7

e 2 2
lo¥cro!
4 8 2

(A) 42
(B) 44
(C) 46
(D) 48

T STfer i e 2 7

4 12 15

(A) 2
(B) 6
(C) 8
(D) 64

19 AT AT 1 A 87 ®, d1 &
AT e § ¥ el a9 e e ?
(A) 26
(B) 28
(C) 29
(D) 30
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41.

42.

43.

44,

45.

46.

iii) Arithmetical and Numerical Ability

The multiplicative inverse of 53 is
(A) 375

(B) 1

(C) 5°

(D) none of these

Value of (3° + 4~ 1) x 22 js

(A) (B) 6

BN B

(C) (D) none of these

Value of [(‘?2]_2 }2 is

81 -81
(A) 16 (B) e
16 -16
il D i
© 81 (©) 81
If 5M = 573 =55 thenm =
(A) -2 (B) 2
oy |
(C) 5 (D) >
-5 -5
Simplified value of = "170 "5125 is
TR o
(A) 5% (B) 58
(C) 5° (D) 573
0.000078 in the standard form is
(A) 7.8x 1075
(B) 78 x 108
(C) 78x10°

(D) none of these

47.

48.

49.

50.

In a stack there are 5 books each of
thickness 20 mm and 5 paper sheets,
each of thickness 0.016 mm. The total
thickness of the stack is

(A) 1.0008 x 102 mm
(B) 20.016 mm

(C) 1.0008 x 10 mm
(D) none of these

7.54 x 107 in the usual form is
(A) 0.00754

(B) 0.0754

(C) 0.000754

(D) none of these

The scale of a map is given as
1: 30000000. If 2 cities are 4 cm apart
in the map, then the actual distance
between them is

(A) 120 km
(B) 1200 km
(C) 140 km
(D) 1400 km

If train is moving at a uniform speed
of 75 km/hr, distance moved by it in
20 minutes is

(A) 20 km
(B) 45 km
(C) 25km
(D) none of these
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41.

42.

43.

45,

46.
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53 &7 UITCH el F41 8 7

(A) 35

(B) 1

(C) 5°

(D) =78 © &1 78

(30 + 4~1) x 22 g e BN ?
5

A 3 ®) 5

© 3 (D) ¥ & i 7
2v2|°

{(‘?) }Wmﬁﬁmiﬁ’ﬂ?

81 81

®) ‘75 ® =
16 -16

©) & By ==

g 5mM 53 =558, Aim="

(A) -2 (B) 2
1 1

© 3 ©) -3

-5 -5
3 xLO t:25 i T e A
LRl ST

(A) 54
(C) 5°

(B) 58
(D) 57°

0.000078 &1 A& €Y FT 2 ¢
(A) 7.8 x 1078
(B) 78 x10°°
(C) 78 x 1075

(D) 378 & s T

47,

49,
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T T § 20 Tt it Aers At 5 T
3 0.016 Tod i #ieE a9 5 Fre @
&, a1 R i For dien fraft 2 7

(A) 1.0008 x 102 forsdt
(B) 20.016 foft

(C) 1.0008 x 103 fi
(D) ¥H & IS e

7.54 x 104 = gmw &9 °§ F4 fomn
ST ¢

(A) 0.00754

(B) 0.0754

(C) 0.000754

(D) T4 & s TE

Terelt wrefer o femmm v 3w 1 30000000
2 | Ffe Aefes d 3 e fi gl 4 H L 2,
at i ITE hl areatass gt fRaHT &nt ?
(A) 120 Tt
(B) 1200
(C) 140 i
(D) 1400 fersft

Ifg wh et 75 Tt /o2 i uheae
nfa & 9o @ 2, ar 20 fime % 39 T
g fepaft gl o/ o s} 2

(A) 20 feft

(B) 45 Tt

(C) 25 fsft

(D) T & =S 7
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51.

52.

53.

-12-

A machine in a factory fills 840 boﬁi_es
in 6 hours. The number of bottles filled
in 5 hours is

(A) 740
(B) 800
(C) 720
(D) none of these

A 5 m, 60 cm high vertical pole casts a
shadow 3 m, 20 cm long. At the same
time, the length of the shadow cast by
another pole of length 10 m 50 cm is

(A)
(B)
(C)
(D)

6m
8.75m
6.5m

none of these

6 pipes are required to fill a tank in
1 hr 20 mins. How long will it take if only
3 pipes of same type are used ?

(A)
(B)
()
(D)

40 min

2 hr 40 mins
60 mins

none of these

2 persons could fit a new window in a
house in 3 days. The number of persons
needed to fit the window in 1 day is

(A) 3
(B) 2
(C) 6
(D) 8

55.

56.

57.

58.

59.

60.

Factors of p? — 10p + 25 are
(A) (p—5)and (p +5)

(B) (p—5)and (p-5)

(C) (p+5)and (p+5)

(D) none of these

Factors of 2x3 + 2xy2 + 2xz2 are
(A) 2x and x2 + y2 + 22

(B) 2xand x3 + y2 + 22

(C) xandx+y+z

(D) none of these

(y2+7y+10) = (y + 5) is
(A) y+1 (B) y+3
C) y+2 (D) y+5

44(x* — 5x3 — 24x2) = 11x (x — 8) is
(A) 8x(x2+3)

(B) 4x(x+3)

(C) 4x(x2 + 6)

(D) none of these

If(y-—38)2=y2-9, theny =
(A) -3 (B) 3
(C) 0 (D) 9

The height of a cuboid whose volume
is 275 cm?® and base area 25 cm? is

(A) 12cem
(B) 13cm
(C) 7cm
(D) 11ecm
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forelt Tt | s it 6 592 | 840 Fiaa
9Tt B, 1 5 52 § et o siae wat ?
(A) 740

(B) 800

(C) 720

(D) 3 & FIS &

5 |t 60 E. 1. I91 U Featax @ 3 i,
20 §.4t. wan widfem s=mar & | di 36
T 10 9t 50 § 7. FHansareh gadt @ #
FAETAT STfere 1 e &

(A) 6

(B) 8.75Hl

(C) 6.54

(D) ¥ © =% Tl

s &t @ 1 Her 20 e # W & o
6 TSUl T STVl Al 7, | 36 YR
% 3 U139 ¥ 39 o 1 WA | o aHa
T 7

(A) 40 fame

(B) 2% 40 fime

(C) 60Tz

(D) 3 ¥ HI§ e

2 =fe wep =€ fggah =t Tt e A 3 fem
o fihe # @hd &, ot 1 f57 & 3 Rashi
%1 e 1 1 foras safFaal i sravasar
anft ?
(A) 3
(B) 2
(C) 6
(D) 8

56.

57.

58.

59.

60.
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p2—10p + 25 % PH &
(A) (p-5) 3 (p+5)
(B) (p-5)3 (p-5)
(C) (p+5)3 (p+5)
(D) =9 & =S 7=

2x3 + 2xy? + 2xz2 & A §
(A) 2x 3T x2 + y2 + 22
(B) 2x 3 x3 + y2 + 72
(C) x3Mx+y+2z

(D) ¥ FIE T

(y2+7y+10) = (y+5)=?
(A) y+1 (B) y+3
(C) y+2 (D) y+5

44(x* — 5x3 - 24x2) = 11x (x - 8) =72
(A) 8x(x2 + 3)

(B) 4x(x + 3)

(C) 4x(xZ + 6)

(D) T & IS TEf

Hﬁ.’(y—-S)a:y?—Q,Fﬁy:?
(A) -3 (B) 3
(C) 0 (D) 9

Th U919 1 FHars feradt srft af2 3wt
FaT 275 9.41.3 3R 3MUR 1 S49%A
25 8.1 28

(A) 128
(B) 13%.Ht.
(C) 7HE.H.
(D) 11 ¥4
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62.
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iv) Hindi Language and Comprehension
Tt s s Ay
FHE e ETd A @I F IR A TG | 66. A 68 F GHH 15E fTRAT |
JIoTeT &, 38 el FEd & | (A) TS
(A) ¥d (B) =i
(B) wfersre (C) TR
(C) adwH (D) 39 & g T
D) 3 & 1S e |
0} 5 67. ‘HiAW HH-HI AT F TR B 7
B B ©) T (D) i
(A) HHT (B) i )
() dfee (D) gt 68. 1A H Al A foeh e 1 e
' T B R ffea g ara
3 a1 1 faeaq wTel § st | Fe M |
‘st 7= ferm g € (A) T
(A) e T foa @ | B) T
(B) =reTe A 9 fer@n # | (©) =i
(C) Wﬁ%’@ﬂﬂﬁ"'ﬂl (D) wER
(D) & @ =g el
_ _ 69. wfu = faue Hifsie - Frenge’

5 st & I==mw & %8 arg # &) B+ 5
FEAE | (B [k i
(A) == ®) @ (©) f: + T
(C) TS (D) HETHTT (D) T § =is e
‘SiTett’ w1sg 1 agwe vres farfiau | 70. ‘wniwu fRm Ei o e e ¢
(A) 3T (A) T Efer
(B) 1@ (B) 3wmie @iy
(C) et () afgafy
(D) 38 & g T (D) 9 & F1E T
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A0 000

7.

72.

73.

74,

75.

=15-

‘A fre a7
(A) For Yy

(B) e @iy

(C) T Efy

(D) TH & Frg 7

fras afty SFare < 3ot 3 & wom aof
=5 € 3 gE TR A1 =9 7, W
_ uuwmai|

(A) = gy

(B) Tty

(C) znfe wfa

(D) 379 & =18 7
‘e’ 39 Y2 H 399 B

(A) =

(B) =14

(C) 19

(D) 1S 3y 78 &

Foq] I H G T 36 gRe H HA R
(A) aYa FH

(B) TSI ST FET

(C) BR AT

(D) E&H HH ST
‘FgmifEa wuE 1 e Hifsm |

(A) I % TFaR

(B) wifea & @

(C) wfe g%

(D) ¥4 ¥ =his T&

76.

T4

78.

79.

80.
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‘et fifeq’ s =1 s Fifs |
(A) THT F FR0 difsq

(B) =wre g Hifea

(C) et = fore fifeq

(D) TH & S e

HEH T g FE 7
(A) HS%
(B) ®H
(C) weeni

(D) T & =S 7e

fom srefere - s, dtar
(A) TrdtER, fafsa
(B) e, Hifsam
(C) wifes, fufems
(D) 34 & %13 T

oTq SR Ui T T o Siaia ST @ 7
(A) Afaemess 63

(B) Safaame T

(C) Z=aara= &

(D) ¥8 & =g e

39 § 3501 e =l wem |
@ (")

B) (- -)

(C) (=)

(D) 398 & =18 7&
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v) English Language and Comprehension
SR T 3R =Y

Fill in the blanks with suitable articles from
among the choices given below them.

81. Chahal may have to bowl
additional over.
(A) a
(B) an
(C) the
(D) none of these

82. He was last person to
qualify for the finals.

(A) an
(B) the
(C) a
(D) none of these

83. Can | get seat on the bus ?
(A) the
(B) a
(C) an
(D) no article required

84. Rohitis N.C.C. Officer.
(A) a
(B) an
(C) the
(D) none of these

Fill in the blanks with appropriate prepositions
from among the choices given below them.

85. The shopkeeper does not have the toys,
| was looking
(A) by
(B) about
(C) for
(D) at

-18-

86.

87.

88.

Divide twelve mangoes three
boys.

(A) to

(B) for

(C) between

(D) among

Mohan will never pass his SSLC
examination he works hard.

(A) if

(B) unless
(C) since
(D) because

They are very grateful your
kindness.

(A) for (B) to
(C) with (D) towards

Fill in the blanks with suitable words/
adjectives from among the choices given
below them.

89.

90.

At the President gave thanks
to the audience.

(A) last (B) later
(C) latest (D) latter

The chapter of this book is
very interesting.

(A) later
(B) latest
(C) last
(D) latter



91. Ram came than Shyam.
(A) late
(B) later
(C) last
(D) latter

92. Between Ram and Shyam, the
is more intelligent.

(A) later
(B) last
(C) late
(D) latter

Fill in the blanks with appropriate modals from
among the choices given below them.
93. When | see you again ?

(A) will

(B) shall

(C) might

(D) would

94. Yourjob be very demanding,
but atleast it isn’t boring.

(A) may

(B) will

(C) would

(D) none of these

95. We thought it rain.
(A) can
(B) could
(C) may
(D) might

17-

96.
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you read when you were
five ?

(A) Could
(B) May
(C) Can
(D) Might

Fillin the blanks with appropriate words from
among the choices given below them.

97.

98.

9.

100.

an aim, the hunter shot the
lion.

(A) Took

(B) Totake

(C) Taking

(D) None of these

| had sooner than walk.
(A) ran

(B) run

(C) torun

(D) running

Tell me this typical machine.
(A) operation

(B) how to operate

(C) operating system

(D) none of these

He is too young this movie.
(A) watching

(B) watch

(C) to watch

(D) watched
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101.

102.

103.

104.

105.
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SECTION-B
Post Specific Subject — Related Questions

is one of the most valuable
bio-degradable raw materials of industry
and daily uses.
(A) Metal

(C) Wood

(B) Plastic
(D) Glass

In spring the outer rings of the tree is
known as

(A) Heart wood
(B) Sap wood
(C) Bark

(D) Cambium

The thin radial fibers extending from pith
to cambium layer are known as

(A) Medullary rays
(B) Cambium rays
(C) Medulia

(D) Pith

The defect is formed due to improper
sawing of timber is called

(A) Torn grain
(B) Sap strain
(C) Callus

(D) Diagonal grain

are cracks which partly
or completely separate the fibers of
wood.

(A) Shakes
(B) Knots
(C) Rind gals
(D) Burls

106.

107.

108.

109.

is a timber piece whose breadth

and thickness exceed 50 mm, but are
less than 200 mm in length.

(A) Baulk (B) Veneers

(C) Scantling (D) Plank

A is a crack which separates
fibers of wood .

(A) Bow (B) Check

(C) Cup (D) Spilit

Moisture content of timber is determined
by the formula

Wi - W,
>
W, - W,

1

(A) %100

(B) x100

w1_+w_2x100
>

wao
W.

2

(C)

(D)

In sawing the saw cuts are
tangential to the annual rings and they
meet each other at right angles.

(A) Radial
(B) Ordinary
(C) Quarter
(D) Tangential
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103.

104.

105.
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aW - |
e wfaftees faeg - gasf uwm

_ FEm i 3 s § e
oY JeEd Sa - e 5
21

(A) =g (B) =i

(C) = (D) *r=

IGq &+ Hge °, U8 F el S Fi
& &9 H SE1 @2 |

(A) TS

(B) & gs

(C) =mh

(D) HirsEm

fuy & Femm wE 9% Fo 169 feaw
IS I % B § S SR |
(A) Hger
(B) Hfemm i

(C) wgem
(D) fow

TR it e ers % Frw IeE Ear
29 I FF 0T 2

(A) 2H 3=

(B) A9 A
(C) o™

(D) EIT=A I

o T E ST SAifeen w8 Al
TE & TAFL! & gl ol 3T Fd 2 |
(A) ="
(B) icE
(C) Fewew

(D) oY

106.

107.

108.

1089.

wHet 1 91 gwel © Toraeh
=rer si s s0 et @ aiftes 2, f
wER A 200 T A R |
(A) i (B) Tafiem
(C) Theafem (D) @&

__ UHIQLE S he! o agei i
3T FHA B |

(A) =
(C) 4

(B) ¥F
(D) fo=re

foram &t et TnEl L el

Fratfa 6 It 2 |

W, - W,

2

W-[—'Wz
1

x100

(A)

x 100

(B)

Wit W . 100
2

(C)

%ﬂoo

2

(D)

F124 & FA §, A F2 qEF
Toall T -1EE B E 3 3 v |
o gHHI I fied § |

(A) sz
(B) HrerRn
(C) fmrg
(D) TEI-TEg
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110.

111.

112.

113.

114,

116.

Timbers, for commercial purposes, are
divided into

(A) Three
(C) Four

classes.
(B) Two
(D) Five

are usedtomark lines parallel
to the edge of a piece of wood.

(B) Straight edge
(D) Gauges

(A) Trammel
(C) Try square

are used for cutting along the
grain in thick wood.

(B) Back saw
(D) Pad saw

(A) Coping saw
(C) Rip saw

is used for pulling out nails,
tacks etc.

(A) Oil Stone
(C) Router

(B) Pincer
(D) Chisel

In jack plane the blade is set at an angle
of to the sole.

(A) 30° (B) 60°
(C) 45° (D) 90°

A is used to give light blows to
the cutting tools having wooden handle
such as chisels and gouges.

(A) Mallet

(B) Clow hammer

(C) Warrington hammer
(D) Route

116.

117.

118.

119.

120.

0 OO0 0O

Gouges are chisels with
sections and may be either inside or
outside ground.

(A) Straight
(C) Holed

(B) Cut
(D) Curved

The distance between the cutting edge

of the blade and the sole of the planes,

called the cut, is kept from to
for heavy cut.

(A) 0.4 mmto 0.8 mm
(B) 1mmto2mm

(C) 0.8 mmto 1.6 mm
(D) 1.6 mmto 2.4 mm

The commonest form of edge joint is the
in which two true edges are
joined with glue.

(A) Butt joint

(B) Bridle joint
(C) Halving joint
(D) Tenon joint

The number of veneers used in making
plywood is never less than

(A) 4 (B) 3
(C) 5 (D) 2

made by dissolving shellac
in methylated spirits with hardening
additives.

(A) Clear varnish
(B) OQil polish
(C) Wax polish
(D) French polish
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110.

111.

112.

113.

114.

115.
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Frfofes 32wl & o, o=
=11 ° fanforg fomen s 2

(A) T (8) A
(C) IR (D) 9=

F1 IFT THG F IFS F
Tl & guETa @A # AEa =0
o fFm s 2 |
(A) Zr
(C) 218 THEmR

(B) i fomT
(D) TS,

1 IFAN 01 TS W I F
Y G1Y H1eA & (o7q T it § |
(A) =hifi =t (B) = @t
(C) Toaai (D) Y= &l
= 39Em fiel, oF e
e e & fou S s ®
(A) AR (B) fiew
(C) &K (BEES

Ak o H, =S I TH oA Eau
o o T S 2 |

(A) 30° (B) 60°
(C) 45° (D) 90°

T ITINT FIeATA 39 3SR
1 Bkl &l o o ToTg, faha 1T 2, Forem
S T M3 it T AHS T oA A
AR |
(A) Fe2
(B) =l B
(C) =fre B
(D) ®

116.

1.

118.

119.

120.
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mIEs 3 areh 34 & 3R
S 3 S AT e B gl 2l

(A) e (B) *e

(C) TS (D) HHTEER

A2 % Wit oA 3R GUIE Gagi & ad
% ofter 1 gft, Tt e e St 2, &
F2 & foru £

W@ TR |

(A) 0.4 fosft & 0.8 findh

(8) 1 fusdt & 2 fimft

(C) 0.8 fudi @ 1.6 forft

(D) 1.6 fosft & 2.4 forft

T o SIS = Tl AT §

2 ol @ w= ol =1 o % g S
EicIEd

(A) w2 a5e

(B) SEST ATEE

(C) wfeam amse

(D) 279 wamse

ey S i e e T fafeR
it g Huft oft g T Tl
Tl 2 |
(A) 4
(C) 5

(B) 3
D) 2

BIefam ufefeen & wy ufdeies
ferfes 4 gemsiia s 8 5901 @ |

(A) FeAFTaTEm

(B) 3¥i3er UifeAsT

(C) o= iferst

(D) %= Uit
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121,

122.

123.

124.

125.

In sheet metal work sheets are specified
by standard gauge numbers. The larger
the gauge numbers, the lesser the

(A) Weight
(B) Length
(C) Thickness
(D) Breadth

The tool used to measure the clearance
between the parts during assembly

(A) Metal gauge
(B) Vernier gauge
(C) Steel gauge

(D) Thickness gauge

A is used in sheet metal
work for marking out work, locating
centres etc.

(A) Mallet (B) Punch

(C) Chisel (D) Hammer

The process of removing metal to the

desired shape from the side or edge of
a sheet or strip is called

(A) Notching (B) Nibbing
(C) Trimming (D) Slitting

Bolt used for securing clamps, vices
and other accessories to the tables of
machine tools is

(A) Square headed bolt
(B) Cheese headed bolt
(C) T- headed bolt

(D) Cup headed bolt

126.

127.

128.

129.

130.

0 000 OO0

are the sheet metal worker's
anvils used for bending, seaming or
forming using a hammer or mallet.

(A) Pliers

(B) Stakes
(C) Snip
(D) Scriber
is the most common tool
for holding work.
(A) Vice (B) Stocks
(C) Bench (D) Bit

The length of handles for heavy
hammers is

(A) 200 to 260 mm
(B) 400 to 500 mm
(C) 250 to 400 mm
(D) 380 to 450 mm

If the surface to be align chipped is
too long, it is advisable to cut grooves
along the whole surface by a cross-cut
chisel and then chip away the rest of
the metal

(A) Hole
(C) Mark

(B) Grooves
(D) Edge

is used to cut, smooth or
fit metal parts.

(A) File
(C) Mallet

(B) Scraper
(D) Chisel



121.

122.

123.

124,

125.
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372 H2ed 99 |, Sfie =i 7= TS g
g fAfde fm san 21 A9 T et
=<t Brfl, AT HH B
(A) =

(B) =T

(C) Hrer

(D) =eTE

SyEisrelt 3 Sr0e 9T & it femre =R amee
% foru swwme fohe samet 2o &t @
AT 8

(A) Hee TS

(B) affm =

(C) e T

(D) g s

_ mIEm e e
T, 3 @ F T, e s 2

(A) Fez (B) 9=

(€) fasa (D) WL

3ffz ar vt % R = fad & aifea s
H o %1 e ot UlHAT T FHET S 8
(A) =rfem B) ffssm

(C) fafmm (D) feafg

Hefi Zow i 2oe WA, ared i 3

i 5 g ¥ fore geme e
ST #iee 2

(A) THERR 8T Hiee
(B) =S 22T dlee
(C) d-EST dIee
(D) F9BIE Tiee

126.

127.

128.

120.

130.
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at sfie Hee o ofaey 3
Tomer 3uT =i 31 Aeie 1 39
T, a1 IEY 24 & fore T siman
2l

(A) T

(B) =

(c) f&u

(D) T

9% # e & fou
TEmTS TR AT e W I 2
(A) aTs" (B) e

(C) == D) fiz

1 e T T Lt B A L I

(A) 200 % 260 it
(B) 400 @ 500 Tt
(C) 250 400 ot
(D) 380 % 450 o

wf2 fosert % fore wae wga oeft B, @ O

T & q1Y F1 HE-F2 B!
H e IfT IWH 18 Urg o arh! feeEt
= shrean 3fEa 2
(A) BT (B) @i
(C) T (D) FFmi

F1 3997 U1q & feedl
12, Toman =1 fhe =23 o Tore foma sman
2
(A) w15 (B) GTEH!
(C) Hefe (D) wi
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131.

132.

133.

134.

135.
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Hand saws are made from
(A) High carbon steel

(B) Low alloy steel

(C) High speed steel

(D) All of the above

Which of the following is not a type of
mortiser ?

(A) Chain mortiser

(B) Hollow chisel mortiser
(C) Square needle mortiser
(D) Oscillating bit mortiser

The circular saw usually has provisions
for tilting the table upto an angle of

to enable the machine to
cut at different angles required during
mitering.
(A) 30°
(C) 50°

(B) 45°
(D) 15°

is a hand-operated tools
and are used to bore small holes, such
as for starting a screw or large nail.

(A) Gimlet
(B) Brace
(C) Caliper
(D) Trammel

are used to give smoothness
and accuracy to articles which have
already been shaped by fullers and
swages.

(A) Sledge
(B) Gad tongs
(C) Flatters
(D) Ball peen

136.

137.

138.

138.

140.

are used for converting the
pencil lines into cut lines.

(A) Gauges

(B) Saw

(C) Bevel square
(D) Marking knife

The tool which consists of a malleable
iron frame that can be swivelled and a
steel screw to which is fitted a thumb
screw is called

(A) Bench hold fast
(B) Sash cramp
(C) Hand screw
(D) G-cramp

are used for screwing and
unscrewing screws in wood work.

(A) Screw driver
(B) Pincer
(C) Scraper
(D) Wheel brace

The size of a vice is known by the

of its jaws.
(A) length (B) weight
(C) width (D) height

are double cut, narrow and of
rectangular section which are used for
narrow work, such as keyways, slots
and grooves.

(A) Round file
(B) Pillar file
(C) Hand file
(D) Half round file
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=kl YTCAEE |
(A) F=9 FTei LA

(B) =4 fuy arg =

(C) dgnfa ==

(D) SYTraa |+t

Frafafaa 9 & #9-91 vF @« /RS
FIIFR AL B 7

(A) =4 Hielgsr

(B) Bl A5e HiZiEeR

(C) TR HTeet HigigsH

(D) sATfeefe foz mreigs

T | H SAHAR T HS F
T T A 1 Gl B & At wei
T Hizftn & 2 Aaygs &= Fon W
A H TEH S S TF |
(A) 30° (B) 45°
(C) 50° (D) 15°

U &Y | HAITea g e
T & 30N 3ue 39 S A1 92t e o
8 DI Fa1 1 ST A = forw s93m o
SR |

(A) Tomere
(B) 3§

(C) Ffemr
(D) e

=1 399 39 @l ki s
TR e &4 o fore fern sTan R s vt
Fer SR T4 g S R e E

(A) T

(B) e 2

(C) weteR

(D) el o

136.
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(A) o€ BIoS B
(B) &9
(C) T==g
(D) sfi-sF
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(A) T
(B) Tige
(C) W
(D) =S|
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(C) =ers

(B) asiH
(D) =18
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(A) TEE FrEe
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141.

142.

143.

144.

145.

146.

is used for forming of a flat
sheet of metal into a curved or hollow
shape such as saucer, bowl, tray or
spoon.

(A) Raising hammer
(B) Setting hammer
(C) Riveting hammer
(D) Mallet

is the process of cutting
concave, convex and other curved
surface along the length of a piece of
wood.
(A) Sawing
(C) Moulding

(B) Marking
(D) Griding

Rebating is the process of making a
rebate or recess taken out of the edge
of a piece of
(A) Plastic
(C) Metal

(B) Wood
(D) Glass

A double-ended, single cut, three-
cornered file of suitable section size is
the usual type of file used for

saws.

(A) boring
(C) cutting

(B) seasoning
(D) sharpening

Natural seasoning is also known as
(A) Graining (B) Airdrying
(C) Moisturing (D) Shrinking

Generally is the only part of
the tree which should be converted for
use.

(A) Heart wood
(B) Sap wood
(C) Hard wood
(D) Black wood

147.

148.

149.

150.

151.

If the annual rings are approximately
at 45° to the face of the plank, the
condition is called

(A) Flat grain B
(B) Edge grain C
(C) Angle grain
(D) Open grain

Due to uneven drying during seasoning,
the timber may

(A) Balk
(C) Decay

(B) Cut
(D) Warp

wood is of inferior quality,
coarse and open grained and of deep
gray color.

(A) Teak
(B) Babul
(C) Mango
(D) Bamboo

Try squares are used for marking and
testing angles of

(A) 45°
(C) 60°

(B) 90°
(D) 145°

A saw is generally specified by the

of its blade measured along
the toothed edge and pitch of teeth,
expressed in

(A) Thickness, meter

(B) Breadth, centimeter
(C) Height, millimeters
(D) Length, millimeters
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(A) e 3m

(B) Tfem

(C) Tafemzm

(D) Hefe
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(A) FEAFEE (B) A
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Which of the following is not a type of
saw ?

(A) Panel saw
(B) Dovetail saw
(C) Compass saw
(D) Skew saw

In jack plane, on the cutting blade
another blade is fixed called as

(A) Back iron (B) Bitiron
(C) Frontiron (D) Wedge
A is a recess along the edge

of a piece of wood, which forms a ledge
which is used for positioning glass in
frames and doors.
(A) Brace

(C) Rebate

(B) Gimet
(D) Bradawl

The carpenter more often favours the

because it serves the dual
purpose of a hammer and a pair of
pincers.

(A) Warrington hammer
(B) Claw hammer

(C) Twist hammer

(D) Forstner hammer

In bench vice, one jaw is fixed to the
side of the table while the other is kept
by means of a screw and a

handle.
(A) Movable (B) Fixed
(C) Rotated (D) Malleable

157.

158.

158.

160.

161.

In sawing of wood to start the cut, the
of the left hand is placed
against the blade.

(A) Middle finger
(B) Fore finger
(C) Thumb

(D) Palm

chisels are used for heavier
work and should be hit with the mallet.

(A) Dowel (B) Firmer
(C) Mortise (D) Tenon
In sheet metal, is used to draw

large circles or arcs that are beyond the
limit of the dividers.

(A) Steel square

(B) Trammel points

(C) Vernier calipers

(D) Swing blade protractor

Drawing is the operation of producing
thin walled hollow or vessel shaped
parts from

(A) Sheet metal
(B) Wood
(C) Plastic
(D) Glass

consists of a frame, table,
feed, rollers, revolving head fitted with
two or three cutter knives.

(A) Wood planer
(B) Band saw
(C) Mortiser
(D) Jointer
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Bamboo is a type of tree.
(A) Exogenous

(B) Endogenous

(C) Conifers

(D) Deciduous

are 50 to 100 mm thick by
125 to 200 mm wide and mostly used
in the sections of doorframes.

(A) Battens

(B) Planks

(C) Fanlight

(D) Stiles

Weight and strength of deodar wood is
less than teak.

(A) 10% (B) 15%

(C) 20% (D) 25%

The head of door frame usually projects
from 50 to 100 mm beyond the posts
and these projections are called

(A) Jamb (B) Mortice
(C) Rib (D) Horn

For the installation of door and window
frames at the required place,

shall be provided on either side of the
frames to anchor them in position.

(A) Tenon
(B) Holdfasts
(C) Mortise
(D) Mouldings

167.

168.

169.

170.

D00 A0 00

The short vertical piece between the
bottom and middle rails in four or six
panel door is called

(A) Soffit
(B) Jambs
(C) Muntin
(D) Stile

Where timber panels are made from

more than one piece, they are jointed

with a continuous
joint.

and

(A) Tongue and grooved
(B) Bevel and field

(C) Raise and botection
(D) None of the above

A clearance of is kept
between the bottom of the door and the
finished floor level.

(A) 1 mm
(C) 10 mm

(B) 20 mm
(D) 6 mm

In ledged braced and battened door,
the battens shall be fixed together by
25 mm thick ledges and braces fixed to
the face of the door shutter
with screws.

(A) Outside

(B) Inside

(C) Top

(D) Bottom
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In the double shutter window the central
window frame is called

(A) Transom
(B) Pivot
(C) Mullion
(D) Hung

The construction of window is similar to
that of

(A) Wall
(B) Floor
(C) Beam
(D) Door

is the most commonly
used compound for glazing.

(A) Putty
(B) Resin
(C) Varnish
(D) Paper

stopper are provided in
double leaf door shutter.

(A) 1 (B) 3
€) 2 (D) 4

Pressed steel are the most
commonly used hinges for hanging
doors and windows.

(A) Butt hinges
(B) Tee hinges
(C) Piano hinges
(D) Spring hinges

176.

177.

178.

179.

180.

For flush doors without middle rail an
upright is used.

(A) Flush lock
(B) Hasp lock
(C) Mortice lock
(D) Sliding lock

Where the door stile is too thin then a
may be provided.

(A) Rim lock (B) Cast lock
(C) Dead lock (D) Hinge lock

are commonly used on
windows for keeping them in position
when kept open.

(A) Chain and bolt
(B) Hooks and eyes
(C) Rubber

(D) Stopper

Sheets are secured to the purlins
and other roof members by means of

galvanized iron hook bolts.
(A) Jorl (B) JorL
(C) Lorl (D) Loru

term is used to indicate
the taking off the edge or corer or arris
of a wooden piece.

(A) Beading
(B) Chamfering
(C) Grooving
(D) Scribing
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In type of joint, the whole end
of one piece of timber is accommodated
or housed for a short distance into the
other piece.

(A) Halved joint
(B) Beveled joint
(C) Housed joint
(D) Dovetail joint

are the small pieces of
timber which can be used to strengthen
the joint.
(A) Pins
(C) Bolt

(B) Screw
(D) Dogs

screw has threads at

both the ends.
(A) Ordinary
(B) Coach
(C) Center
(D) Handrail

Which of the following is not a cutting
tool ?

(A) Hand saw
(B) Mortise chisel
(C) Coping saw
(D) Jack plane

are the pieces of wood which
extend from the ridge to eaves in roof
truss.

(A) Hip
(C) Gable

(B) Rafter
(D) Valley

186.

187.

188.

189.

190.

are small blocks of wood
which are fixed on the trusses to

prevent the sliding of purlins.
(A) Cleat

(B) Template

(C) Wall plate

(D) Post plate

Size of the door frames of 10DS20
doors

(A) 990 mm x 2090 mm
(B) 990 mm x 1990 mm
(C) 900 mm x 2000 mm
(D) 1000 mm x 2000 mm

Size of shutter in mm of 12 WT 12
window

(A) 1190 x 1190
(B) 590 x 1290
(C) 560 x 1100
(D) 590 x 1190

Size of frames in mm of 6 V6
ventilators

(A) 590 x 590
(B) 500 x 500
(C) 600 x 600
(D) 500 x 590

Which of the following is not a fixtures
and fastening for doors and windows ?

(A) Hinges (B) Bolts
(C) Handles (D) Batten
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192.

193.

194.

195.

drilling machine is a small
machine designed for drilling a small
holes at high speed in light jobs.

(A) Jet

(B) Sensitive
(C) Column
(D) Compact

clamps are very useful for

quick adjustment of the work.
(A) J (B) L
(C) U (D) w

Before drilling the center of the hole is
located on the workpiece by drawing

two lines at angles to each
other.

(A) Straight (B) Obtuse

(C) Acute (D) Right

is a tool used for enlarging
or finishing a hole previously drilled.

(A) Reamer
(B) Chisel
(C) Hammer
(D) Augur

Floor type boring machine is classified
under

(A) Vertical boring machine
(B) Jig boring machine

(C) Horizontal boring machine
(D) Precision boring machine

196.

197.

198.

199.

200.

The main function of a is to
remove metal from a piece of work to
give it the required shape and size.

(A) Drill (B) Bore

(C) Lathe (D) Saw
Steel is an

(A) Metal (B) Non metal
(C) Plastic (D) Alloy

Wood has a high ratio of strength to
weight in compression and it has little
strength in

(A) Tension
(B) Torsion
(C) Shearing
(D) None of the above

is made by first exploding
wood chips with high pressure steam.

(A) Plywood

(B) Sap wood
(C) Hard wood
(D) Soft wood

are similar to common
nails except they have a thinner shank
and thinner head.

(A) Casing nail
(B) Face nail
(C) Box nail
(D) Toe nail
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statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrorig Method || Wrong Method [| Wrong Method ||Comrect Method|

O®00|I0O00|I0C®0 00800

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
guestion. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D, If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

. In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

. Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

. You are NOT required to mark your answers
inthis Booklet. All answers must be indicated
in the Answer Sheet only.
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